Space Fuel
Filename: tanks
The Problem
NASA is attempting to design a new version of the space shuttle with a spherical fuel tank. To design the new shuttle, they need to know how much fuel the proposed tank could hold, as well as how much the full tank will weigh. The trouble is, the more fuel a tank holds, the thicker the tank must be to contain the fuel. The thickness of the tank wall in centimeters is equal to the square root of the volume of the tank in cubic meters. The amount of fuel a tank can hold is entirely based on its volume. The amount a tank full weighs is the combined weight of the empty tank and the fuel.
A cubic meter of fuel weighs 10 kilograms. A square meter of tank wall that is 1 centimeter thick weighs 2 kilograms.

The volume of a sphere is (4/3)(r 3. The surface area of a sphere is 4(r 2.
The Input
The first line of the input will contain a positive, non-zero integer n indicating the number of tanks to be designed. It will be followed by n lines, each containing one floating-point value indicating the radius of the tank to be designed, in meters.
The Output
The output for each case will consist of one line, in the format “Tank #x holds y m^3 of fuel and weighs z kgs.”, where x is the number of the tank, starting at 1, and y and z are as described. Separate the output for each case with a blank line.
Sample Input
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Sample Output
Tank #1 holds 268.082573106329 m^3 of fuel and weighs 9264.891098936654 kgs.
Tank #2 holds 696.9099703213357 m^3 of fuel and weighs 27039.3864598812 kgs.

Tank #3 holds 33.510321638291124 m^3 of fuel and weighs 917.0578750577557 kgs.
(Note: On the screen, the output for each case should be displayed on a single line.)
